
Selected solutions PS9

1 -]n(2x ,5)

= [U(ax ,2] - *InAX ,21]

= 52 · U+ (5x ,5) - 7 . 2
=

Ux(5x ,
5t)

= 22 . [H+ (2x ,8t)- Uxx (2x , 22t)]

= 22 . 0 E usingU satisfies heat equation
Ut-kUxy =0

= 0

S UCAX ,5t) Satisfies Heat Equation

On the other hand .11(x ,
-Et)

does not satisfies the Heategrations

4. We have deduced that the general solutions are
-22

ucxit)= and sin with L=

in this quation
-Dat

Thus uxiti= and Sin(xX).
The initial condition gives

- 6 Sin(6TX)= an Sindix)

using the orthogonalities of sin x) , we
"observe"

that an=o except for n=1








